Estimate the mean, median and range of a set of grouped data and determine the modal class, selecting the statistic most appropriate to the line of enquiry
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An estimate for the mean of data set B is 43.5








An estimate for the mean of data set B is 47








An estimate for the range of data set A is 80








An estimate for the mean of data set A is 57.2 (1 d..p.)








An estimate for the mean of data set B is 50





The median of data set A is in the group 
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The median of data set B is in the group 
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An estimate for the mean of data set A is 33








The median of data set B is in the group 
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